

Advertiser: <u>F</u>	Manab 44 00			Today's Date:March 10, 2023 End Date:April 4, 2023				
	March 11, 20				-			
	·							
WCUB:	Mark	WLT	'U:	W	'EMP:			
New Contract	::XXX	Sup	plemental:	Su	uperseding:			
Campaign: <u>Po</u>	olitical	·		·				
Total Spots			:30-seconds	•				
•				and the second s	ase do not incl	ude an FCC fee on		
						د د		
Billing								
Media:		Monthly: xxx	C	Affidavit:_X	XXX Yes	<u>No</u>		
					Yes xxx			
			Electronic In	voicina: XXX	Yes			
	ned schedule							
	ned schedule		Schedule					
	ned schedule	Tuesday		Thursday	Friday	Saturday		
See attach			Schedule	•		Saturday		
			Schedule	•		Saturday		
See attach			Schedule	•		Saturday		
See attach			Schedule	•		Saturday		
See attach	Monday	Tuesday	Schedule	•		Saturday		
See attach	Monday	Tuesday	Schedule Wednesday	Thursday	Friday	Saturday		
See attach Sunday Price Per Spot:	Monday \$63.00 Gross	Tuesday	Schedule Wednesday Contract Tot	Thursday al:\$13,230.00	Friday			
See attach Sunday Price Per Spot: Client Approva	Monday \$63.00 Gross al: Rural FM s:	Tuesday	Schedule Wednesday Contract Tot	Thursday al:\$13,230.00	Friday			
See attach Sunday Price Per Spot: Client Approva City:	Monday \$63.00 Gross al: Rural FM s:	Tuesday	Schedule Wednesday Contract Tot	Thursday al:\$13,230.00	Friday Gross Zip:			

	WLKN-FI	WLKNEM	WLKN-FM	Station
	MTWR		MTWRF	Days
	- 0300P-0700P	j	; 	Time
	XXP Adult Contemp. G	1000A-0300P Adult Contemp.	0600A-1000A Adult Contemp.	Format
	IP. GREEN BAY	ip. GREEN BAY	p. GREEN BAY	DMA
	8	60	8	Length
	\$63.00	\$63.00	\$63.00	Rate
	20	20	20	3.11-3.17
	20	20	20	3.18-3.24
	20	20	20	3.25-3.31
	10	- -	-	4144
210	70	70	70	4.1-4.4 Total Spots Gross
\$13,230.00	\$4,410.00	\$4,410.00	\$4,410.00	Gross
\$11,245.50	\$3,748.50	\$3,748.50	\$3,748.50	Net
\$4,630.50	70 \$4,410.00 \$3,748.50 \$1,543.50 \$2,205.00	\$1,543,50	\$1,543.50	Total Spots Gross Net Rural Total Station Total
\$6,615.00	\$2,205.00	70 \$4,410.00 \$3,748.50 \$1,543.50 \$2,205.00	\$2,205.00	Station Total

March 2023

Fair Courts America - Rural FM WLKN

Sunday	Monday	Tuesday	Wednesday	Thursday	Friday	Saturday	
26	27	28				ω	4
5	6			00	9 10	2x 6a-10a	Ħ
						2x 10a-3p	
					•	2x 3p-7p	
3x 6a-10a	3x 6a-10a	3x 6a-10a	3x 6a-10a	3x 6a-10a	3x 6a-10a	2x 6a-10a	18
3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	2x 10a-3p	
3x 3p-7p	3x 3p-7p	3x 3p-7p	3x 3p-7p	3x 3p-7p	3x 3p-7p	2x 3p-7p	
3x 6a-10a	²⁰ 3x 6a-10a	3x 6a-10a	3x 6a-10a	3x 6a-10a	3x 6a-10a	2x 6a-10a	25
3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	2x 10a-3p	
3x 3p-7p	3x 3p-7p	3x 3p-7p	3x 3p-7p	3x 3p-7p	3x 3p-7p	2x 3p-7p	
3x 6a-10a	3x 6a-10a	3x 6a-10a	3x 6a-10a	30 3x 6a-10a	3x 6a-10a	I	<u></u>
3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p	3x 10a-3p		
3x 3p-7p	3x 3p-7p	3x 3p-7p	3× 3p-7p	3x 3p-7p	3x 3p-7p		

S M T W T F S

March 2023

February 2023

26 27 28

April 2023

Fair Courts America – Rural FM WLKN

March 2023

April 2023

May 2023

		T			•					_
				-	3x 10a-3p 3 x 3n-7 n	3x 6a-10a				Sunday
	30	23	16		3x 10a-3p	3x 6a-10a	J		26	Monday
)-4	24	17	10	4x 10a-12p	2x 6a-10a	3		27	Tuesday
	2	25	18	=		ົ 			28	
	ω	26	19	12	:				29	Wednesday
	-4-	27	20	13		ō			30	Thursday
										Friday
	и	28	21	14				2x 10a-3p	³¹ 2x 6a-10a	Saturday
Page 2/2	න	29	22	11.55	_	00			<u>,</u>	

WOMT/WQTC/WEMP/WLKN/WCUB/WLTU SEEHAFER BROADCASTING CORPORATION PO BOX 1385 3730 MANGIN ST

MANITOWOC, WI 54221-1385

Client:

FAIR COURTS AMERICA - AGENCY

Order #: Description: 5029-00003K **POLITICAL**

Date Entered: 3/10/2023

P.O.#:

Salesperson:

STEVENSON, TERRY

Invoice Frequency: Billed at end of Media Month, Sorted by Date

RURAL AM/FM 190 MONROE AVENUE NW **STE 300** GRAND RAPIDS, MI 49503

On-Air Schedule

5	Start Date	End Date	<u>Station</u>	Scheduled	l Time/Event	Repeated	Length	Qty	Rate	<u>Total</u>	M	<u>Tu</u>	W	<u>Th</u>	F	<u>Sa</u>	<u>Su</u>
1	3/11/2023	4/4/2023	WLKN-FM	06:00:00	to 10:00:00	CUSTOM	1:00	70	63.00	4410.00	Υ	Υ	Υ	Υ	Υ	Υ	Υ
	3/11/2023	3/12/20	023					5	63.00	315.00	0	0	0	0	0	2	3
	3/13/2023	3/19/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	3/20/2023	3/26/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	3/27/2023	4/2/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	4/3/2023	4/4/20	023					5	63.00	315.00	3	2	0	0	0	0	0
2	3/11/2023	4/4/2023	WLKN-FM	10:00:00	to 15:00:00	CUSTOM	1:00	68	63.00	4284.00	Υ	Υ	Υ	Υ	Υ	Υ	Υ
	3/11/2023	3/12/20	023					5	63.00	315.00	0	0	0	0	0	2	3
	3/13/2023	3/19/20	023					20	63,00	1260.00	3	3	3	3	3	2	.3
	3/20/2023	3/26/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	3/27/2023	4/2/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	4/3/2023	4/4/20	023					3	63.00	189.00	3	0	0	0	0	0	0
3	3/11/2023	4/4/2023	WLKN-FM	15:00:00	to 19:00:00	CUSTOM	1:00	68	63.00	4284.00	Υ	Υ	Υ	Υ	Υ	Υ	Υ
	3/11/2023	3/12/20	023					5	63.00	315.00	0	0	0	0	0	2	3
	3/13/2023	3/19/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	3/20/2023	3/26/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	3/27/2023	4/2/20	023					20	63.00	1260.00	3	3	3	3	3	2	3
	4/3/2023	4/4/20	023					3	63,00	189.00	3	0	0	0	0	0	0
4	4/4/2023	4/4/2023	WLKN-FM	10:00:00	to 12:00:00	CUSTOM	1:00	4	63.00	252.00	N	Υ	N	N	N	N	N
	4/4/2023	4/4/20	023					4	63,00	252.00	0	4	0	0	0	0	0 .

Order Start Date: 3/11/2023

Order End Date: 4/4/2023

Spots: 210

Total Charges:

\$13,230.00

Combined Discounts:

\$5,920.43

Total Net:

\$7,309.57

	ng Totals for FAIR COURTS AMERICA	

Total:		210	\$13,230.00	\$5,920.43	\$7,309.57
АргіІ	2023	75	\$4,725.00	\$2,114.44	\$2,610.56
March	2023	135	\$8,505.00	\$3,805.99	\$4,699.01
		Spot Count	<u>Gross Billing</u>	Combined Disc.	<u>Net Billing</u>

Confirmed & Accepted for WOMT/WQTC/WEMP/WLKN/WCUB/WLTU

Accepted for RURAL AM/FM By:

ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

, FlexPoint Media	_, hereby request station time as fo	llows: See Orde	r for proposed
schedule and charges. See Invoi	ce for actual schedule and charges		
Check one:			
(1) a legally qualified candidate issue of public importance (e.g., leading subject of controversy or discuss	elating to any political matter of national for federal office; (2) an election to federa nealth care legislation, IRS tax code, etc.); o sion at the national level. nessage relating to any political matter of	l office; (3) a nationa r (4) a political issue	al legislative that is the
ALL QUES	TIONS/BLOCKS MUST BE CON	(IPLETED	
Station time requested by:			
Agency name: FlexPoint Media			and the engineer of the articularity confidence of the second of
Address: PO Box 1051, New Albany, OH 430	5		1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -
Contact: FlexPoint Media	Phone number: 202-417-2274	Email: info@flexpoi	ntmedia.com
Name of advertiser/sponsor (list entity's f committees] with no acronyms; name mu	ull legal name as disclosed to the Fede st match the sponsorship ID in ad):	ral Election Commi	ssion [for federal
Name: Fair Courts America		alana arang mengang mengahakkan mengang di dianah	ментичти о ментичте и те описан опециалности и и од од од од од од од
Address: 1901 Butterfield Road, Suite 120, D	owners Grove, IL 60515	e toda com a media procesa de la composición del composición de la composición de la composición del composición de la c	CONTINUES OF THE ORGANIZATION OF THE TAX THE BEST OF THE ORGANIZATION OF THE ORGANIZAT
	Phone number:	Email: info@faircourtsai	merica.com
Station is authorized to announce the tim	ne as paid for by such person or entity.		
List ALL of the chief executive officers or group(s) of the advertiser/sponsor (Use se -Treasurer/Custodian of Records- Sherry Gasi	eparate page if necessary.):	r board of director	s or other governing
By signing below, advertiser/sponsor repre- executive committee and board of director	sents that those listed above are the only s or other governing group(s).	executive officers, r	nembers of the
If ad refers to a federal candidate(s) or fe	deral election, list ALL of the following:		√ N/A
Name(s) of every candidate referred to:			THE RESERVE OF THE PROPERTY OF
Office(s) sought by such candidate(s) (no	acronyms or abbreviations):	entre anno en	THE MATERIAL CONTROL OF THE PARTY NAME AND A STATE OF THE PARTY NA
Date of election:	and the second of the second o		THE THE PERSON NAMED IN COLUMN TO TH
Clearly identify EVERY political matter of ad (no acronyms); use separate page if ne			√ N/A

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

The advertiser/sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, which may arise from the broadcast of the above-requested advertisement(s). For the above-requested ad(s), the advertiser/sponsor also agrees to prepare a script, transcript or tape, which will be delivered to the station by the log deadlines outlined in the station's disclosure statement.

Advertiser/Sponsor	tative					
Signature: TexPoint-Nedia		Signature:				
Name: FlexPoint Media		Name: Terry Stevenson				
Date of Request to Purchase Ad Time:	01/24/2023	Date of Station Agreement to Sell Time: 3/10/23				
то	BE COMPLETED	BY STATION O	NLY			
Ad submitted to station? Yes	No No	Date ad received: .	3/10/23			
Note: Must have separate PB-19 forms (or the	equivalent, e.g., adden	dums) for each version o	of the ad (i.e., for every ad with differing copy).			
If only one officer, executive committee in writing if there are any other officers update this form if additional officers, r	, executive committe	ee members or direc	tion should ask the advertiser/sponsor ctors, maintain records of inquiry and			
Disposition: Accepted Accepted IN PART (e.g., ad not received a provide reason (option)		content)*				
*Upload partially accepted form, then pro	omptly upload update	ed final form when co	mplete.			
Date and nature of follow-ups, if any:	of the structure of the	and the manufacture of the state of the stat	Harmoneografia de destinación de la compressión			
Contract #:	Station Call Letters: WLKN		Date Received/Requested: 3/10/23			
Est. #:	Station Location: Manitowoc	Run Start and End Dates: 3/11-4/4				
For national issue ads only (not required for state/local issue ads);						

Upload order, this disclosure form and invoice (or traffic system print-out) or other material reflecting this transaction to the OPIF or use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of time purchased (including date, time, class of time and reasons for any make-goods or rebates) or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the name of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder in the OPIF.